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Chuwpwpului woluuwnwpukp
1 |JZwwnwlh uuhljubph putnnid 10042 1.08
2 NMuwwnh nintdk pupdusph puinmid u3 8.46
3 [Swhunwljk hwwnwlh putinnd 10042 2.57 2.08%
4  [Swuhph dwslhh pwunnmd 100pd 5.357
5 [Chu. wnph nnipu pipnud, pupdnid b ninuthnjpund 12 Yd n 32
LChpunlkip
Zumunulutp
1 |9pminught (hgph hpuljwiwgnid nindhubinidng u3 396.03 20.54%
LChpunlkip
Nnubp b yunnithwbkp
1 Uupnhbpdwpupk swsyny nwtthph Yntunpnijghuyh putngnud o 409.6
Yujupwdwsh hin dhwuht
9 Swtthph yuwpwunmd ypndbhjuwdnp 6=0,55 u 2 495.44 22.38%
hwuwnnipjudp ghutjuwywun phptnny
3 |diuwudws jujupudwsh wywidnnwdnid u? 125
4  |'unp thuyunju jujupudwsh nknunpnid u? 125
LChpunlkip
Qpuimnwljupupnid
1 upwdninnt dpwlnid IV jupgh gpoiinitbpnid 03 30
tpujujunnpny Ynnihgpny
9 upwdninnt dpwlnid IV jupgh gpotinubpnid dknpny, 03 8
Ynnjhgpny
3 unnnjulh twpuyuwnpuunulut gkpn pipndh wjugqhg 03 6
wnnthwunidny, h=10 ud
4 [Pmnndwlh gpw pEpndh wjugm] uhqpirabub htnghgph 03 35 4.40%
hpuwjwiwgnid dknpny vhtish junnnduljh Jipht kgphg 20 e
5 [dEpotwlut hkwnjhgp mbnh gpnitiinny tinthwinidng u3 79
6 |Uybgnijuyhtt gpnitnh mbnuihnhunid wnpuduyp u3 20
7  |Mnihkphikut unnndul PE 100, de25, PN10 u 8
8  |Mnihkphikut junnndul PE 100, de20, PN10 u 80
9  [lvnpnyulwownh thnpdwuplnd D25-16 u 132
10  [vnnnuluowph thnpdwplynid D20-16 u 68
LChnunlkip
Unyninh ukppht
1 Ny Lupniduyght Ynyninne NMIL junnnyuljulp DN50. wpdtp, n 30
Untiinwud
9 Ny Lupniduyhtt Ynyninne MIL junnynyuljulip DN100. wipdtp, n 80
Untiinwud
3 |Uuwnighy ML DN100. wpdtp b wknunpnid 1nul. 10
4 |Uuyniuwly 900 NM9L DN50. wpdtp b nknunpnid hwwn 20
5 |Uuyniuwl 450 9L DN50. wpdtp b nknunpnid hwwn 30
6 |Ullmniuwl 450 ML DN100. wpdtp b wknungpnid hwwn 30 1.80%
7  |Bnwpwtuhll 900 N9L DN 50 /50. wpdtip b mbnunpnid hwwn 20
8  |Bnwpwtuhly 900 NYL DN 100 /50. wmpdtp b mtnunypnid hwwn 10
9  |Gnwpwpuhly 900 N9 L DN 100 /100. wupdtp b mbknunnpnid hwin 8
10 Gnwpwphuhl ptp 450 ML DN 100 /100. wpdtp b bt 10
nbnunpnud
11 |Ulgniud M9L DN 100 /50. wipdtp b mknunpnid hwwn 8
Lhpultlp
Unyninh wpwpuwhi
1 upwuninnt dpwlnid IV jupgh gpoiintbpnid 03 85.09
tpuwjuinnpny Ynnihgpny ‘
9 pwuninnt dpwnid IV jupgh gpoiinubpnid dknpny, 03 36.47
Ynnihgpny
unnnjulh twpwyunpuunwuljub okpn pipngh wjwughg
3 u3 12.16
wnnthwinidny, h=10 ud
funnnijwlh Ypw plipnidh wjwqny uyqpwlut htnihgph
4  |ppujutugnid Atnpny dhtsh unnndulh yipht tqphg 20 u3 24.31
ud pupdpnipintl, nnthwinudng
5  |dkpotwlub htnjhgp nknh gpmiinnny nnthwiniing u3 85.09




Udbkgnijuyhtt gpniinh nbknuhnpunid wnpujuyp

6 nktnnghwjwh wyuinwbpltp us3 3647
7 Eplotipn, swpwnp juyintjuynp Ynnignt junnnyul i 935
PEHD SN8 OD160/140, thnpdwplynidny
G/phuntt np hnph mknunpnid hwdwpnyh
8 u3 0.7
Etdblnttinhg D=1,0u 14.70%
D1000 hwjwpnyh tpuppknntk kkdkunttphg
9 [phutiwhnph hwdwp hwnwlh vwt KIA-10 (1 hwnh hwin 10
phwnnth swjuup 0.18u3, Uknwunh swuup 14.4Yq. )
Unjninnt nhwnwhnph phnntk wnguly B15 dwljthoh
10 ) u3 45
phnnthg ujunny b Epljupwjtugnidng
D1000 hujupnygh tpluppknntt Lidkunubkphg
11 |gphwnwhnph hwdwp wwwnh onuljutp KI110-6 (1 hwwnh hwwn 10
phunntih swuup 0.16u3, Ukwnwnh swhiup 6.44q. )
12 |Uknwnuljut wunhdwth wpdtpp lg 23.03
13 Thunwhnpbipnud ubjudwluwniin pjut dknwunuljut uq 1376
Juynn LiEdkunubkp
Swuwwywphujhtt Swslh uwy T mhwh pnigk Uinngny D1000
14  [nhunwhnpbph hwdwp. wpdtp, dwnwljupupnid b hwiwn 10
nbnunnpnud
15 |Uhwgnid gnnipnih niilignn Ynjninnt nhunwhnpht wkn 1
Lhpunlkip
Qnupwodw hwdwljupg
1 pwdninnt dpwynid IV jupgh gpoibanubpnid 03 155.61
tpuljuunnpny_ynnihgpny|
9 upwdninnt dpwynid IV jupgh gpoiinubpnid dknpny, 03 66.69
Ynnjhgpny
g (Mmnnywlh opgunpuipbul gkpn pipmh udughg 03 36.23
unnthwinidny, h=45 ud
4 unnnquljh ypu puqunk dwbipuwpwnph okpuwu, 03 947
wnnthwtinidny, h=20 ud 22.30%
5  |dkpotwlub hkwnjhgp nknh gpmitnny nnthwimiing u3 102
Uytignijuyhtt gpniinh mknuihnjunid wnpuduyp
6 u3 120.6
wnkutunnghuljutt wppwnwpubp
7 |0y &uoniduyghtt ML junnndwly D=250 u 247.25
8 |[Ullmniuwl 900 MIL D=250 hwn 7
9  |Bnwpwphuhly 900 ML D=250 hwwn 8
Lhpunlkip
QuqUuwnwywpned
Zktwpwtubph hwdwp hnubph thopoud IV upgh
1 u3 1.73
gpoiunubpnid dknpny , Ynnuihgpny
9 Udugh twjpuyunpuunulub okipnh ppuljubiugnid 03 0.17
h=10ud hwuwnnipjudp
3 Phwnnuk hhuph Junpnignid hkbwpwuttph hwdwp 03 173
B12,5nwup plwnnthg
4 |[Zhuwpwutbp dbnwunulub unnnduljhg h=2-5d n 0.09
6 Mnnuuwnt ququuup junnnjul D=40x3uUU, n 146.4
thnpdwplnidnyg FNUS 3262-75
7 Mnnuuwnt ququuup junnnjuly D=20x2,5U, N 120
thnpdwpynidnyg FNUS 3262-75
3 Ubununuljui dtunjnp dwubp wpdnilly, bpapwshahs, " 0.01
whgnut, hugurdhulhy
9 |(vnnujulubph pmuuubkpynud 2 whqud u2 29.3 11.80%
10  [Fuquhuwodhy EEjunpnuuyght £oinhsny GSA-16 1nuy. 1
11 |[Udput  guunht wipugdwi hwdwp lg 1
12 |duljub 20 hwwn 15
13 [Mnnqyuunk yuwnjut 50 hwwn 1
14 [Uugptph pugnid yuwnbkpnid hwwn 1
15 [Uugptph thwlnid ghd.wdwuquyht punuuny u3 1
16 [Uwwhnyhs uthnyp 20 hwwn 10
17 |Fwqh wqpuipwbwghlt uwpp hwwn 10
18  [unnnyulubtph thswdwppnid yd 0.266
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